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40Co decays with a half-life of 5.27 years to produce °°Ni. Calculate the fraction of original sample of ¢°Co that will remain after 15

years has passed.



40Co decays with a half-life of 5.27 years to produce °°Ni. Calculate the fraction of original sample of ¢°Co that will remain after 15

years has passed.

Because radioactive decay obeys first-order kinetics, we can apply the integrated rate law to find the fraction:
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239Pu decays with a half-life of t;,, = 2.41 x 10* years. Calculate the time it would take for a sample of 23?Pu to decay to 2.5% of

its original population.
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